
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly
7/4/25

1285-HH 3PH Helical Cutterhead
Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

 PJ1285-600 Cutterhead Assembly (Items 1
thru 22)   

1 PJ1285-601 Cutterhead  1

2 PJ1696-002 Left Bearing Housing  1

3 BB-6204ZZ Ball Bearing 6204ZZ 2

4 6292566 Bearing Washer  1

6 TS-1490031 Hex Cap Screw M8x20 1

7 PJ1696-004 Left Bearing Cap Plate  1

8 TS-1503051 Socket Head Cap Screw M6x1.0Px20L 6

9 PJ1696-005 Right Bearing Housing  1

10 BB-6206ZZ Bearing 6206ZZ 2

11 PJ1696-006 Right Bearing Cap Plate  1

12 6292573 Key 8mm x 8mm x
60mm 1

13 6292572 Cutterhead Sheave  1

14 6292574 Pulley Washer  1

15 TS-2361101 Lock Washer M10 1

16 TS-1491021 Hex Cap Screw M10x20 1

17 PJ1696-010 Gib  4

18 PJ1696-011 Carbide Insert Knife-Rabbet (Sold in pkg of 2) 2

19 6400013 Carbide Insert Knife (Sold in pkg
of 10)  42

20 PJ1696-012 Gib Nut  44

21 PJ1696-013 Gib Screw  44

22 PJ1696-015 Gib Pin Ø 2x 8 88

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly
7/4/25

Additional Information

Stock Number 1791308-5

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/1285-hh-3ph-helical-cutterhead-assembly

